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kE

1E¥ (cm ) =0.394Z~ (in) 1%~ (in) =2.54[E% (cm)
1R (ft) =128 (in)

[ipsetd=1
1FA¥ (m?) =10.764FHHER ( ft*)
1FF5EST (in®) =6.4525FFEX (cm?)

ryiaii=1

1ZEM0¢ (gal ) =3.785F (1)

1STAES (in®) =16.38713/5E¥ (cm®)

1FIIAER (mef ) =28.31732753% (m®)

135006 (gal ) =4.546F (1)

1S7/58R (ft®) =0.028337/53K ( m®) =28.317F ( liter )

1375% (m®) =1000F ( liter ) =35.315375FR (ft®) =6.29%F (bbl )

REIRE

1F52 (kg ) =2.2058E (1b)

158 (Ib) =0.4547F53 (kg ) [EE]

10§ (t) =1000F 58 (kg ) =22058% (Ib ) =1.102%GM ( sh.ton)
=0.984{M ( long ton )

BERE

1RE/ZER? (1b/ft® ) =16.02F 53/ (kg/m?)

15E/ZENE (Ib/gal ) =99.776F 53/ (kg/m*)

15E/2< (Ib/in® ) =27679.9F 5/ (kg/m®)

15E/2E00€ (Ib/gal ) =119.826F 52/ ( kg/m*)

1F52/5° (kg/m®) =0.00153//E¥’ ( g/cm®) =0.062488/5R> (Ib/ft)

IEEIHEIRE

1HF (St) =102/ (m?/s) =1EBEX%/F> (cm?/s)
1BERY/FD (ft?/s) =9.29030% 10 2K%/Fb (m?/s )

1EHR (cSt) =10 K /R (m?/s) =1ZK*/&> (mm?/s)

IHEIRE

sIIREE 1A (P) =0.18F (Pass)

1/&5H (cP) =10°1AF (Pa's)

1EESIRL/HER? (Ibf-s/ft? ) =47.8803M8FL ( Pa-s )
1F5e /3K (kgfs. m?) =9.80665
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Higg
14 (N ) =0.22585/ (Ibf) =0.102F 5843 ( kgf )
1F52/ (kgf) =9.814- (N)

1555 (1bf ) =4.45547 (N ) AR (dyn) =104 (N )
mERE

K=5/9 ( °F+459.67 ) K=°C+273.15
n°C=(5/9:n+32) °F n°F=[(n-32)x5/91°C

1°F=5/9°C (;BEE)

EHigg
£/ 18 (bar) =10°4 ( Pa ) NAE/EX ( dyn/cm?®) =0.11H ( Pa )
13% (Torr ) =133.322118 ( Pa) 12K5RHE (mmHg ) =133.3221H ( Pa)

122K7KHE ( mmH20 ) =9.8066511H 1TFRAS/E=98.0665F18 ( kPa )
108 ( kPa ) =0.145H /82 (psi ) =0.0102F 53 1/EH? ( kgf/cm? )
1F18 ( kPa ) =0.0098 K5 /E (atm)

1881/ ( psi) =6.895F 18 ( kPa ) =0.0703F 5= 11/EH* ( kg/cm?)
155/3/962 ( psi) =0.0689E8 ( bar ) =0.068KS/E (atm )

THIBEASE (atm ) =101.325F1H ( kPa ) =14.696%/2< ( psi)
1YIBEASE (atm ) =1.03338 (bar)

=R

1ZEBEN/BY ( Btu/h ) =0.293071E (W)
1F52 /3 K/F ( kgf-m/s ) =9.80665F;, (w )
1-£/#> (cal/s) =4.1868F, (W)

EERE
1ZE/0Y ( mile/h ) =0.44704K/Fp (m/s)
1R /FD (ft/s) =0.3048K/F (m/s)



